
Notation Scientifique (H)Écrivez chaque nombre ci-dessous en notation standard.
6,04 × 10⁻⁸ = 2,6 × 10⁻⁴ =
7,01 × 10⁻⁷ = 2,94 × 10⁻⁶ =
7,68 × 10⁻⁵ = 5,06 × 10⁻³ =
3,91 × 10⁻⁸ = 1,31 × 10⁻³ =
5,95 × 10⁻⁶ = 1,2 × 10⁻⁸ =
4,36 × 10⁻⁶ = 9,5 × 10⁻³ =
5,69 × 10⁻⁵ = 5,04 × 10⁻⁸ =
4,93 × 10⁻⁷ = 3,877 × 10⁻⁵ =
3,7 × 10⁻⁴ = 1,2 × 10⁻⁵ =
6,2 × 10⁻⁷ = 4,7 × 10⁻⁵ =
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Notation Scientifique (H) SolutionsÉcrivez chaque nombre ci-dessous en notation standard.
6,04 × 10⁻⁸ = 0,0000000604 2,6 × 10⁻⁴ = 0,00026
7,01 × 10⁻⁷ = 0,000000701 2,94 × 10⁻⁶ = 0,00000294
7,68 × 10⁻⁵ = 0,0000768 5,06 × 10⁻³ = 0,00506
3,91 × 10⁻⁸ = 0,0000000391 1,31 × 10⁻³ = 0,00131
5,95 × 10⁻⁶ = 0,00000595 1,2 × 10⁻⁸ = 0,000000012
4,36 × 10⁻⁶ = 0,00000436 9,5 × 10⁻³ = 0,0095
5,69 × 10⁻⁵ = 0,0000569 5,04 × 10⁻⁸ = 0,0000000504
4,93 × 10⁻⁷ = 0,000000493 3,877 × 10⁻⁵ = 0,00003877
3,7 × 10⁻⁴ = 0,00037 1,2 × 10⁻⁵ = 0,000012
6,2 × 10⁻⁷ = 0,00000062 4,7 × 10⁻⁵ = 0,000047
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